CITY OF KENEDY, TEXAS WATER AND WASTEWATER SERVICE FEE SCHEDULE EXHIBIT A

1.A.1 Residential Water Rates Inside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	\$12.00 for 5/8" X 3/4"	meter. See Item 1.A.21 to
•	Next 2,001-6,000 gals.	\$ 4.00/1,000 gals.	calculate Min. Monthly Bill
•	Next 6,001-12,000 gals.	\$ 7.00/1,000 gals.	for meters 1" and larger

• All over 12,000 gals. \$ 10.00/1,000 gals.

1.A.2 Commercial Water Rates Inside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	\$ 40.00 for 5/8" X 3/4" meter. See Item 1.A.21 to
•	Next 2,001-6,000 gals.	\$ 7.00/1,000 gals. calculate Min. Monthly Bill
•	Next 6,001-12,000 gals.	\$ 10.00/1,000 gals. for meters 1" and larger
_	A 11 array 12 000 asla	© 12.00/1.000 colo

• All over 12,000 gals. \$ 13.00/1,000 gals.

1.A.3 Residential Water Rates Outside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	42.00 for 5/8	" X 3/4" meter. See Item 1.A.21 to
•	Next 2,001-6,000 gals.	8.00/1,000	gals calculate Min. Monthly Bill.
•	Next 6,001-12,000 gals.	11.00/1,000	gals. for meters 1" and larger
•	All over 12 000 gals	14 00/1 000	nale

• All over 12,000 gals. \$ 14.00/1,000 gals.

1.A.4 Commercial Water Rates Outside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	\$ 74.00 for 5/8" X 3/4" meter. See Item 1.A.21	to
•	Next 2,001-6,000 gals.	\$ 11.00/1,000 gals. calculate Min. Monthly l	3ill
•	Next 6,001-12,000 gals .	\$ 14.00/1,000 gals. for meters 1" and larger	
•	All over 12,000 gals.	\$ 17.00/1,000 gals.	

1.A.5 Residential Sewer Rates Inside the City Limits: (5)

•	Mınımum Bıll (2,000 gals.)	\$ 20.00
•	Next 2,001-6,000 gals.	\$ 4.00/1,000 gals.
•	Next 6,001-12,000 gals.	\$ 5.00/1,000 gals.
•	All over 12,000 gals.	\$ 6.00/1,000 gals.

1.A.6 Commercial Sewer Rates Inside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	\$ 40.00/1,000 gals.
•	Next 2,001-6,000 gals.	\$ 5.00/1,000 gals.
•	Next 6,001-12,000 gals.	\$ 6.00/1,000 gals
•	All over 12,000 gals.	\$ 7.00/1,000 gals.

1.A.7 Residential Sewer Rates Outside the City Limits: (5)

•	Minimum Bill (2,000 gals.)	\$ 34.00
•	Next 2,001-6,000 gals.	\$ 5.00/1,000 gals.
•	Next 6,001-12,000 gals.	\$ 6.00/1,000 gals.
•	All over 12,000 gals.	\$ 7.00/1,000 gals.

(1) Ord. No. 8-2 (11-4-2008)

(2) Ord. No. 14-2 (2-11-2014)

(3) Ord. No. 14-6 (9-9-2014)

(4) Ord. No. 14-7 (10-14-2014)

(5) Ord. No. 17-12 (9-12-2017)

(6) Ord. No. 17-14 (11-21-2017)

1.A.8 Commercial Sewer Rates Outside the City Limits: (5)

Minimum Bill (2,000 gals.) \$ 72.00

 Next 2,001-6,000 gals.
 Next 6,001-12,000 gals.
 6.00/1,000 gals.
 6.50/1,000 gals. Next 2,001-6,000 gals.

\$ 7.00/1,000 gals. • All over 12,000 gals.

1.A.9 Bulk Water Rates: (3)

- \$50.00 non-refundable deposit on commercial patrons
- \$20.00 per thousand gallons

1.A.10 Water Tap Fees inside the City Limits: (2)

- \$800.00 Tap Fee for ³/₄ inch Service plus cost of road bore if needed.
- \$1,000.00 Tap Fee for one inch (1") Service plus cost of road bore if needed.
- The Charge for water taps larger than a one inch (1") Service shall consist of the actual cost to the City to make the service tap plus five percent (5%). Actual Cost may include the following items if applicable: Materials; Water Meter; Installation; and, Road Bore (if needed).
- Developers/Contractors may install service taps subject to the City's specifications and approval of the City's Water and Wastewater System Superintendent.

1.A.11 Water Tap Fees outside the City Limits: (2)

- \$1,000.00 Tap Fee for 3/4 inch Service plus cost of road bore if needed.
- \$1,200.00 Tap Fee for one inch (1") Service plus cost of road bore if needed.
- The Charge for water taps larger than a one inch (1") Service shall consist of the actual cost to the City to make the service tap plus five percent (5%). Actual Cost may include the following items if applicable: Materials; Water Meter; Installation; and, Road Bore (if needed).
- Developers/Contractors may install service taps subject to the City's specifications and approval of the City's Water and Wastewater System Superintendent.

1.A.12 Sewer Tap Fees inside the City Limits: (2)

- \$400.00 Tap Fee for a 4 inch Service plus cost of road bore or manhole coring if needed.
- \$500.00 Tap Fee for a 6 inch Service plus cost of road bore or manhole coring if needed.
- The Charge for sewer taps larger than a six inch (6") Service shall consist of the actual cost to the City to make the service tap plus five percent (5%). Actual Cost may include the following items if applicable: Materials; Installation; and, Road Bore (if needed).
- Developers/Contractors may install service taps subject to the City's specifications and Wastewater System Superintendent. approval of the City's Water and

1.A.13 Sewer Tap Fees outside the City Limits: (2)

- \$800.00 Tap Fee for a 4 inch Service plus cost of road bore or manhole coring if needed.
- \$1,000.00 Tap Fee for a 6 inch Service plus cost of road bore or manhole coring if needed.
- The Charge for sewer taps larger than a six inch (6") Service shall consist of the actual cost to the City to make the service tap plus five percent (5%). Actual Cost may include the following items if applicable: Materials; Installation; and, Road Bore (if needed).

```
(1) Ord. No. 8-2 (11-4-2008)
```

⁽²⁾ Ord. No. 14-2 (2-11-2014)

⁽³⁾ Ord. No. 14-6 (9-9-2014)

⁽⁴⁾ Ord. No. 14-7 (10-14-2014)

⁽⁵⁾ Ord. No. 17-12 (9-12-2017)

⁽⁶⁾ Ord. No. 17-14 (11-21-2017)

• Developers/Contractors may install service taps subject to the City's specifications and approval of the City's Water and Wastewater System Superintendent.

1.A.14 Connection Fees: (2)

- \$30.00 Connection Fee any time a new account is established, or if an existing service is transferred to a new customer.
- Account Deposits are based on the Water Meter size as follows:

a. 5/8 X 3/4 inch meter	\$	40.00
b. 1 inch meter	\$	100.00
c. 2 inch meter	\$	320.00
d. 3 inch meter	\$	640.00
e. 4 inch meter	\$1	,000.00
f. 6 inch meter	\$2	,000.00
g. 8 inch meter	\$3	,200.00

• Account Deposits for customer accounts utilizing Sanitary Sewer Service only shall be based on the sewer tap size as follows:

a. 4 inch tap	\$	40.00
b. 6 inch tap	\$	200.00
c. 8 inch tap	\$1.	000.00

1.A.15 Disconnect Fees; (1)

• All patrons where water service is terminated will be charged a \$50.00 reconnect fee to restore service.

1.A.16 Tamper Fees: (1)

• In the event a water meter is tampered with by a patron an additional fee of \$150.00, plus cost to replace any damaged parts and/or material shall be added to the patron's next statement.

1.A.17 Reclaimed Wastewater Effluent: (3)

- \$200.00 Non-Refundable Account activation fee
- \$10.00 per 1,000 gallons

1.A.18 Disposal of Liquid Domestic Waste at WWTP: (3)

- \$200.00 Non-Refundable Account activation fee
- \$100.00 per 1,000 gallons limited to maximum of 3,000 gals. per load
- The City shall accept Liquid Domestic Waste from locations within Karnes County only as evidenced by the Bill of Lading presented by the service provider, a copy of which shall be provided to the City
- The City retains the right to refuse to accept Waste if there is reason to think that the Waste may harm operations of the Plant.

```
(1) Ord. No. 8-2 (11-4-2008)
```

⁽²⁾ Ord. No. 14-2 (2-11-2014)

⁽³⁾ Ord. No. 14-6 (9-9-2014)

⁽⁴⁾ Ord. No. 14-7 (10-14-2014)

⁽⁵⁾ Ord. No. 17-12 (9-12-2017)

⁽⁶⁾ Ord. No. 17-14 (11-21-2017)

1.A.19 Water Meter Equivalency Charge for Minimum Monthly Bill Calculation: (5)

a. Residential Inside City Limits.

Meter Size	Base <u>Minimum</u>	Equiv. <u>Charge</u>	Minimum Monthly Bill (0-2000 gallons)
5/8"x 3/4" 1" 1 1/2 " 2" 3" 4"	\$20.00 X \$20.00 X \$20.00 X \$20.00 X \$20.00 X \$20.00 X	1.0 = 2.5 = 5.0 = 8.0 = 16.0 = 25.0 =	\$ 12.00 \$ 50.00 \$ 100.00 \$ 160.00 \$ 320.00 \$ 500.00
6"	\$20.00 X	50.0 =	\$ 1,000.00

b. Residential Outside City Limits

Meter	Base	Equiv.	Minimum Monthly Bill (0-2000 gallons)
<u>Size</u>	<u>Minimum</u>	<u>Charge</u>	
5/8"x 3/4"	\$42.00 X	1.0 =	\$ 42.00
1"	\$42.00 X	2.5 =	\$ 105.00
1 1/2 "	\$42.00 X	5.0 =	\$ 210.00
2"	\$42.00 X	8.0 =	\$ 336.00
3"	\$42.00 X	16.0 =	\$ 672.00
4"	\$42.00 X	25.0 =	\$ 1,050.00
6"	\$42.00 X	50.0 =	\$ 2,100.00

⁽¹⁾ Ord. No. 8-2 (11-4-2008)

⁽²⁾ Ord. No. 14-2 (2-11-2014)

⁽³⁾ Ord. No. 14-6 (9-9-2014)

⁽⁴⁾ Ord. No. 14-7 (10-14-2014)

⁽⁵⁾ Ord. No. 17-12 (9-12-2017)

⁽⁶⁾ Ord. No. 17-14 (11-21-2017)

c. Commercial Inside City Limits.

Meter Size	Base <u>Minimum</u>	Equiv. <u>Charge</u>	Minimum Monthly Bill (0-2000 gallons)
5/8"x 3/4" 1" 1 ½" 2" 3" 4"	\$40.00 X \$40.00 X \$40.00 X \$40.00 X \$40.00 X \$40.00 X	1.0 = 2.5 = 5.0 = 8.0 = 16.0 = 25.0 =	\$ 40.00 \$ 100.00 \$ 200.00 \$ 320.00 \$ 480.00 \$ 1,000.00
6"	\$40.00 X	50.0 =	\$ 2,000.00

d. Commercial Outside City Limits.

Meter <u>Size</u>	Base <u>Minimum</u>	Equiv. <u>Charge</u>	Minimum Monthly Bill (0-2000 gallons)
5/8"x 3/4"	\$74.00 X	1.0 =	\$ 74.00
1"	\$74.00 X	2.5 =	\$ 185.00
1 ½"	\$74.00 X	5.0 =	\$ 370.00
2"	\$74.00 X	8.0 =	\$ 592.00
3"	\$74.00 X	16.0 =	\$ 1,184.00
4"	\$74.00 X	25.0 =	\$ 1,850.00
6"	\$74.00 X	50.0 =	\$ 3,700.00

⁽¹⁾ Ord. No. 8-2 (11-4-2008)

⁽²⁾ Ord. No. 14-2 (2-11-2014)

⁽³⁾ Ord. No. 14-6 (9-9-2014)

⁽⁴⁾ Ord. No. 14-7 (10-14-2014)

⁽⁵⁾ Ord. No. 17-12 (9-12-2017)

⁽⁶⁾ Ord. No. 17-14 (11-21-2017)